sum
[

10

1071

Ratio to CDF
[N

0.5

1 IR L L B B E B B
- Sum(pT) vs A (ij1 > 5.0 GeV) -
| m CDF ]
— --O-- Herwig++ 2.5.2 default -
[ --3-- Herwig 7.2.0 default ]
_. —
ol
\\
| Sm _
[ Q _
- Om N
B S| |

1800 GeV ppbar Underlying Event
L L I R

5.-555555555555555-"aaaaéﬂ"iggg

500090
OT0OOeco00p00000000007

e NP . _
Q@%@@oaa el oy R e e

[FHHE]

0 2INC[3.0)
— g% SE GOQGQQ‘@ @GO @’@@QG@GGQQ i
I T TP TP I T TP TP I T TP T T Y SR
0 50 100 150

A/ degrees

|
Rivet 3.1.0, = 5.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


